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Solving Systems Worksheet
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Solve each system by substitution.
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Solve edach system 537 elimination.
ik Ry
7)ﬁ-x-4y=4>3 L{\{-—Lf(o):l-/
—-12x-6y=-12 _
2y 412y =12 H¥x =Y
éax) =0
y=o

9 G+y=11)-2

2x—4y=4

_‘2)(—2\’_:‘22
-6 = [
.G

© 2020 Kuta Software

Name
rights reserved. /
Date Period
2) y=-5x-23 \,_:__g.,z,?
y=x+7

_Sx =23 = X+t
16% ~+5%
=98 = b¥ ‘f‘;?
o5 i
_30 = bx
© & o
4) y=—4x+9
~4x—-3y=-11
“dyv-3(-4x+a) = "IV
- =g T =
v 412 % 59
%'ﬁ( - le
‘?Ea?
6) y=—Tx+9
4x—y=2
Hye - (-7

A

1)
8)6—6x—3y=0)c x-3(8)=0
—-12x—-7y=8 - o
LY+ by =0 A
ILxey =@
-\ = 8 . =04
N= - e =%
10) C7x-3y=13)2 7N\ 2y =13
10%~6y=2 7(--3y e
Hdxtoy =t 7 -3y 710




